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IORGITRER SRR TS U At Teifd THRHThIaHR STifhd e Suioel S5 qrH! Hicdst AT,
T Tad ShileedT T3 "o G, Uf e ar s O o =4,
(F) AT v fawaTaTet WISt stia gt wreaw e o o, T fearware wele: ue Ret siet
TG YTl
G) TS W FHE 07 SR, A e T S . e el S0 ArEid AT <afdl S e foaen
A FH HIgaad. FAM T Sl ST oTE IO UEieT Uy Hoi T STeedTs et 9 T areadr Yere
T I 8O,
(6) STITRA Thal TG Hoxs Iat WIeal VR AR, TR Hoxs I GIgd T IT {Seard o T ST e,
(7) W WS ST Yo e+ Tlarl SHGaTeAT SR (1o a1 Sei-re o7 fqo orde. |,
T STENT AR FEUETHT ST Uyt [ oI SAvish Gald ag S Savataehd

r arehis 41
T WgTufrhadt sy fafga ook 9@ diuda § WoTqfaenT stEmmel Wremar o7 it
TR T IATASH GRS AUWA Uard A9 HE. & A5 Guuda Tew yeayfeaehst
a/udt, fhar vt yyqiaa e RTE I HIVTETE WU YT ar AyedsTqut
WIS A GoT, Thw Ui &0 7 R ST HY el Hmr Eaiat e
T Foer | TiTeR o= IR Ufae ey swivararEdEr Atufaa-82 ' arae
WAL TR WA RISl TAETER HIEE HUa 936 9 Wl e S e TF

TuTeAT HTETEreAT AT/ féhar $ud U@ TR @i et gw nw age

T T yyaiRwet fafea wodh 9w duvarendt @ vyl sHieRdaqr Sesor 7 gat
TR A T FHIOH A ST HHaNigerish!, T8 Wierean wEagenageiis 3w
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1. & WEH S SHsE R ST iR BT st A et qivem Il
R 3RS T “gengro yatju” 38 TEUEI. el SIHEHH HAL T et I 4 ' e
[eX a2 o faarvarEE! “Ern yatju gengro” ? 3TH WUiAR. IEX SIUHM HATR
“Ern gengro” (‘'YX €1@"") f&a1 “Ern gangro yatju!” 3@ I
SR gangro § WA gengro = fatHl st AT WM @@ W fEIed @A
“Ern gangro yatju!” =1 & i ¢ frast
(1) YIS HYHH Bd. (2) iiTes M B
(3) Tagy Fiuwn . (4) SUgE DM B
In ancient civilization, construction workers would say “gengro yatju” when wishing
other construction workers “beautiful building”. Upon the construction workers’ return,
the children would ask “Ern yatju gengro” ?, which meant “Was building beautiful” ?
The building workers would either reply “Ern gengro” (“Was beautiful building”) or
“Ern gangro yatju!” '

If gangro symbolises the opposite of gengro, select the option that is most inappropriate
meaning of “Ern gangro yatju!”.

(1) was obnoxious building (2) was foul building

(3) was ugly building (4) was useful building

2. ‘‘quiteAT TS HO € VAT Tora SIS oTy e 37 fauIEEyE SR % 9 a1 drem
et :
(a) RN T S o el He a0 fauT T 3@,
(b) TN STSIETeA ol Ut g 39E i faur Aud 3w,
(c) T S S AUiTal FHiehl 9 el faum a9 3@
©(d) T ST o qUiEl A STEe a0E faum w9 o,

it 3T
(1) (b) digd T T 2) (a) Frgm v s
(3) HH (o) §H (4) (a) Toan (b) T

Select correct conclusion/s with respect to statement if direct or indirect relationship is
considered, “Rani’s grand-father’s son can be grand-father of Rani’s son.”

Conclusions :

(a) Statement is true only if Rani is daughter of that grand-father’s son.

(b) Statement is false even if Rani is daughter of that grand-father’s son.

(c) Statement is true even if that grand-father’s son is Rani's paternal uncle.

(d) Statement is true even if that grand-father’s son is Rani’s maternal uncle.

Answer Options :

(1)  All are true but (b) (2)  All are false but (a)

(3) Only (c) is true (4) Either (a) or (b) is true

HoeT HIMEIE ST /SPACE FOR ROUGH WORK
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3. ¥ 9gH A The News : A User’s Manual ( S0 : arquar@iat qrfeldfer) o1 qeIT fagaeE
< aigT I [ERRTdT IR 3T ST 9u 0 97 s IHFERE S0 g
A TR AR R SIEVESA A WU HE deha YoEu Sl aqfi
A | FOMTA WIS SI6l J@e ARkl i STHaHEl 31 o S6H oie. ol
A & |-TEd E, TEHale arad ey, s qedTee! wigwe 8 oRd.  eviars
FHRE TS foar TN Taw alEl STt i et 91 Saum e, Jfae, war, sfiew
Y T I SRTeR0 A gEre e S WeETE anieie Wi Suge St
TE. I Aifes TR Tuifae TTel Jeetds UROT, STEhHar o7 stehqul w=em STt The
News § T Jaer F09 #1d.

T igr= Geuid Aed @/ o faur/+ fast
(a) fogaeiea wIoRT= 94, € |ig A= sai=n irhaEadr evarR quier freaaett
o ¥ S SR AESt sTed sraHE e, i, vl s W St TS

3.
(b) & SEe Ao HA A Sa WY FO0 a1 o i o w0 § s e
.

(c) :gw—q%v@ TS AAIEEEE SR [Ee A 81 “The News’ 1 TR W& T
(d) WWWWWW%WWWWW
i aTad HEHd BV el '

i 39y

(1) (d) FEm T )  (c) foram T 7=

(3)  (b) femmg Tt = @) () g wdl TR

Louis Bowden, a researcher, while reviewing De Botton’s The News : A User’s Manual

comments :

As per hypothesis put forward by De Botton, it is not the role of news to enrich our lives

or make them more fulfilling. Even the most ardent advocates of the fourth estate and the

most altruistic of news commentators would choke on their breakfast at the very suggestion.

These claims are the domain of self-help gurus, reality television competitions and

fundamentalist devotees. Whilst idealism isn't in itself a redundant thought experiment,

a manual of news media without a thorough exploration of the definition, role, limitations,

history and contemporary milieu of news just might be. Ultimately, despite some original

idnsights, The News suffers irredeemably from a lack of refinement, precision and meaningful
iscussion.

Select the statement/s that is/are not true with respect to the above comment.

(a) According to reviewer, De Botton’s idealism about the role of news is totally futile
thought experiment as there is a need to explore definition, role, limitations, etc. of
the i§eal news.

(b) According to Louis Bowden role of news is not to enrich our lives or make them
more fulfilling.

() Major drawback of ‘The News’ is that it doesn’t provide bases for meaningful
discussion about the ideal news.

(d)  Altruistic news commentators also will not agree with De Botton’s ldea about role
of news in public life.

Answer Options :

1) None but (d}) 2) None but Ec)

gS None but (b) 4) None but (a)

FoAT HAES IRT /SPACE FOR ROUGH WORK
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IR, A T, O W, TEITF T T 3R, ITHSTN Y{IE R THEHF faheas
SIHSTSA] HUI MRS 3 O DTS TIFhH T
WWWWWWWWWWW
fra=l, ,

(1) aE A g (2) fow (3) =t flww (4) ==

Though not most pleasing form of wood to look at, quality plywood has become an
incredibly important building material. It is flexible, comparatively inexpensive, termite
resistant and durable. Its strength is due to layers of wood grains glued on the top of each
other, with the grains of each layer making a right angle with the grain of the layer below
it. This way of layering sheets of wood particles make plywood sturdy.

Select the quality of plywood that depends on its strength gained due to the peculiar
arrangement of wood grains glued together.

(1) ecofriendly (2) durable (3) termite resistant (4) cheaper

5. 'O 1 g YO 98A 1 @ 9an wos gl &1 e e Oeg St S a9 e,
aed :
(a) T AT ISPV 7 AW IR,
(b) gaih I BT TP 6 AW IS 3 WA IFOMI 1 AEE FH] 7R,
(c) T d gE IJU 9 T A,
(d) —gEh A gE IFU 11 T AR, F BT I ik SJOMET 3 TEIA S IR,
i I
1) (@) ) 2 @ © 3) (@), (b 4 ®), ()

Identify two facts that prove conclusion, “London to Dubai is quicker than London to
New York.” to be always true.

Facts :
(@) A flight from London to Dubai is 7 hours.

{b) The flight from New York to London is 6 hours, which is 1 hour less than return
flight.

(c) A flight from London to Dubai is 9 hours.

(d) A flight from Dubai to New York is 11 hours, which is 3 hours more than flight from
London to New York.

Answer Options :
(1) (@, ) 2 () © (3) (@), ® 4 ®), ()

THoAT HIHEIA ST /SPACE FOR ROUGH WORK
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6. NEATH FUTA & URATHT G T TR AE E qHE AR, S 4.8 € < @ 99 A
qUT HUS FEHL de8 TS ' hg O TS 3ed B GHE IR,

TS gfaaars gaa M fayr fas.
(1) T A FhR T e e U o SIHIH TS[ER hIH HIOTY - YR FHT i
& W9 oo Wa:dl e TR,

(2) fafay Tt GeFige e 9 96K @ qe[ fasaam 9 wiaw siaq s,

(3) YRARI® qgIF HISH! Fe § A SHaw, =t Scrgshdl HAl 379d F F FHl Tl
EGIGH

(4) AW AT A= THIT 90% 3T N0 SHg=Ie ared e sy a9
30 VIR T

India’s problem is not job shortage, but poverty. Unemployment rate of 4.8 is not the
problem, but the fact that our labour force is “working poor”.

Select the statement that weakens above argument.

(1) Poor people cannot afford to remain unemployed and therefore they are self-employed
at subsistence wages and it is a self-exploitation.

(2) Poor and unemployed people are earning wages through various government
schemes and lead a dignified life.

(3) Most of the enterprises in India are informal, have low productivity, and consequently,
do not pay the lower wages.

(4) Informal employment in India is 90% and earning descent wages is not possible in
informal enterprises.

7. e T Aemen S g e &9, g Aeusn HHr T M F, e qrHadan s

[ S A Ml FO i S 1y Hast.
(1) T (2) 3) e (4 W

Parmit collected more samples of seeds than Rose. Rose collected fewer samples than
Neel. Neel collected more samples than Parmit. Ruta collected more samples than Parmit
but fewer samples than Neel.

Select the option that indicates person who collected highest number of samples.

(1) Parmit (2) Ruta (3) Neel (4) Rose

HoAT HHTEAS 0T /SPACE FOR ROUGH WORK
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8. T WA 25 fElN 122 W% T w20 faiR 90 Wi TRHSRAEE 6 S Hoede
fomenel o oY : ‘&I MR 5 s fEm 400 fRd". SR TS Ie 65 TRl o W ¥ w W
A FoATS!T e GeHeel o 6 |1 Heiel A AReEl o fREAR R e
(A i TR ST T AE% o TR ERT)

1) 14 2) 15 (3) 12 4) 13

Nemi wants to move 122 boxes weighing 25 kg each and 90 boxes weighing 20 kg each,

from the ground floor to the store located on 6 floor of our office block. Due to heavy

rain no one is there to help him. The notice in the lift reads “MAXIMUM LOAD :
~ 5 persons or 400 kg.” If Nemi weighs 65 kg., then select the minimum number of journeys

he needs to make from ground floor to 6'h floor for completing the job safely.
(Assume that volume is manageable in these journeys)

1) 14 ) 15 @) 12 (4) 13

9. &, S, sfr, wiad, e, sfam, gim it afa SR oo @ S
(@) i suion sifom A= AiS WEHTHHR 3.
(b) T 3w g = e snfty sifesren I TR
(c) I & Tre Soraths o o sifarem RSRY TR,
(d) i &t srfearsn A et anfor wfer € Srare SR AR
< gfgan s dhan A ST SEeEeS Shead JEieds! Sivd fauE gRie 3w ?
(1) €1 € wiedren SHaiwE Sas Sl R,
(2) i@ & wfadren sseiwe = SRl ST,
(3) &1 € oo WER SR,
(4) wfad & FHfoa=n EES oI TR
Sana, Deepa, Anita, Savita, Alia, Kavita, Sunita and Vanita are playing cards sitting around
a circular table.
a) Anita is exactly facing Alia.
(b) Sana and Deepa is not neighbour of Anita and Alia.
{(c) Vanita is right of Sana and neighbour of Anita.
(d) Kavita is not neighbour of Alia and Savita is not neighbour of Deepa.
Which of the following is false if Savita and Deepa interchange their positions ?
(1) Deepa is immediate right to Kavita
(2) Sunita is immediate right to Savita
(3) Deepa is infront of Kavita
(4) Savita is immediate right te Kavita

el HTATE WO /SPACE FOR ROUGH WORK
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10. T WEUETATEA 99 FAEEE! 9 SR W WIS U o0 4 e WeieidH TH ST
SO (&4 JaEr=T 4/3 3. a1 VeUaCAM el AS-t 989 Yo ho 9 1S iy (e
YA T 9581 W THU T 1,536 @ . qX A IBUETAR Tl SFFEIET S0 & IR
(1) 126 (2) 128 (3) 120 (4) 114
The bus fare for two persons for travelling between two cities is four-thirds the train fare
between same places for one person. The total fare paid by six persons travelling by bus

and eight persons by train is ¥ 1,536 between these two cities. Select the number that tells
train fare required for one person between these cities.

1) 126 (2) 128 (3) 120 (4) 114

11. 9fam mifesr=a 5 = seas! 3f9q gfam fAae.

Select appropriate image for 5t place in the following image series.

i ‘t{ = /}
1) )_t*. @ )'11- - )—13_. o ’ﬁ_(

12. e faumren devia @ gafa fae

(x+a) (x—b) (x+¢) x-d) (x+e) .. ... .. (x+y{x—2)=7
(1) axz ’ (2) 26

(3) x 91269 TS (4) A

Select the correct option with respect to following statement.
(x+a) (x=b) (x+c) {(x—d) (x+e)....... (x+y) (x—2)=7?
(1) axz {2) 26

(3) =x to the power of 26 {4) Zero

FHEST RIS ST /SPACE FOR ROUGH WORK
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13. el Weq welt fdteror, Tnepen, SR, ferae sTeang snfol Jeeh ared ot WIe O] HEe oTRA.
et e T2 w6 = fiaEh, faage oA e € 5 = fiaEh, [oE 9= e 4 @
Teagh, e e 3 = feaeh snfor ameem 712 31 2 =41 feasit wws dam. wmesen 180 fawi=n
FroEHE § e fawn Je T et Yedle @ g gwie faum fae

(1) ferae s anfon qeask 9199 e 9 foew T wedie.

(2 w43 faw e Tl

() Teaw swar, Srsm it T = e 8 faw e wedie.
(4) st Friaror sufot TreRe e 10 feaw T WEd.

In a school there are five hobby clubs and they are bird watching, painting, Lgardem‘ng,
film appreciation and book reading. The bird watching group meets every 6% day, film
appreciation group meets every 5% day, the book reading group meets every 4t day,
painting group meets every 3™ day, and gardening group meets every 2" day. Select the
false statement with respect to this information about these group meeting on the same
days during 180 school days.

(1) Film appreciation and book reading groups will be meeting together on 9 days.
(2) All groups will be meeting on together 3 days.
(3) Film appreciation, gardening and reading group will be meeting together on 8 days.

(4) Bird watching and painting groups will be meeting together on 10 days.

ool FHEES ART /SPACE FOR ROUGH WORK
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14, WRAH 29 e e =1 o, afgen, sifaaien snfnn e sovawie fafay wd ais=h
IREHEATRT Rt GGt 1 Teshig sfaem ieen Savames féhen saem wsrsm wiie d R
YRR @ o U SgTe & Treeel TR o dieTdl 3aeh! SiagHies TR, S
WA - HAaite afogarde 3aftem a faiet ¥ yRde-1is wes wa.=0 gags wia
SIS AT ITEA B FeqT 3T, Sroraery, foaar sufw st sigra 9 onfor sveies € sigsiee
SFHSH AN A FIT .

FuRfaa fauq= wals e ahae spefEEa s gy fae.
(1) R YRAT 9igfaemid § JarfaseEe O 8 ad oibn o wEvare J1F T

(2) TAfaaAT= S Ufielius T WU STy & Wahdl 1l 79 Tstiear wiam
HESS A0 YR R

(3) I IR getfera 9 B a4t T, T A A TS Wi sreesen sodie
fHfefdtadt et i,

(4) AR g 9 AR SRed, SiE STER HewE ifaeiaes swEw WM
YAV TS 3T ST T WqHT STHSS U WS THRIS! arIe e,

India depicted gods and goddesses in the form of icons, sculpted Yakshis, Abhisariks and
many actions of daily life in detail but didn’t bother to record political history or images of
our kings. There is no place for our kings on coins of that era. Despite ancient Indians
having excelled in metallurgy and in iconography, metal coins minted by them were
shamefully crude. When the Indo-Greek rulers like Demetrius and Menander in Bactria
on the Indo-Afghan border were minting coins with their life-like images imprinted on
them, our Ajatshatru, Bimbisara and even Chandragupta Mourya and Ashoka were issuing
crude punch marked coins.

Select the option that interprets underlined statements most logically.

(1) Indians though excelled in metallurgy and iconography, lacked knowledge of minting
coins.

(2) Due to lack of knowledge of iconography, India did not use coins having images of
kings that could have been served as historical record.

(3) Though Indians excelled in iconography they did not use it to create coins with
king's images.

(4) Indians did not use their skills of iconography and metallurgy for minting coins
with images of kings that could have served as important historical record.

oAl SRS SO /SPACE FOR ROUGH WORK
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15. T3 feden gfwmere s it wafa See ARG SR Wiwa e FiREr qeeum
Tt free.

R G A T 0 FH TG G GURE. T JeoTEdre 9Ua S e /oA He
TSR QURS . TewAr Aie-ar el 38, WU =IO wH FUSREe! Hi H e e,

1)

4)

THFFEREE! T F FO ® qEE 97 960, 9 TRavIeEl W gy FE 6o A
Tyl fFvaTg gead o, TeT STSaeTd TaT 378, SR He Ii0] serad 3 at e
31 g Ufes wifest.

SR U ArErEn gl Frafha 50 S @ gH e guie. T WRE) w0 e T
WY o e gune =t e g guE S o wifes. wafad ot © 9y Sy o
TovIRE Tlgager ST 8 o,

mﬁwﬁr@mﬁm‘@%wgw. T HIZA T RS FE R
FO A BA WY T YIRS AR Jean S Hig=ard Aeht Ten 318 v @ Ie9 401
Trearararet W fFafm wE Fer afes,

wftgeiten et T TS R, TR hINe Hol At TR A
Tifest Tv[A W WREHYdS TUE Sl TaHE Bls TIaoed T H HEWe e 3T St
@EA T fSFuR .

Study the argument given below and select the option that indicates argument with most
closely similar reasoning.

If you practice playing flute, your playing will get better. I have not practiced playing
tabla, so my playing has not got better. There is a competition next month. So I must
work hard to do well.

(1)

2)

)

@)

If you work hard at cycling you will get faster. 1 have worked harder to get faster,
and I have started winning competitions. There is an examination next week. If I
want to pass it I must keep studying.

If you practice regularly playing harmonium your playing will get better. Rasika
has not practiced much but her playing has got better so she must have worked
enough. She may even pass her Visharad examination latter this year.

If you work hard at singing you will become better. I have not worked hard at my
dancing skills, so I have not become better. | have an examination in next two
months’ time. So I must practice every day to get higher grades.

Practice is necessary for achieving perfection. 1 have practice hard on my problem
solving skills so I should soon be perfect. 1am participating in competition coming
up soon and I am surely going to win it.

oA HIATATS! AT /SPACE FOR ROUGH WORK
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16. WOS ST FIE THT=AT = 278 ?
(a) Fal oo SHRIIGT T S A
(b) T« G W AN Go5 Heow! .
(c) &I F= I THe.

qgid 39T ;
(1) I HieEg FHgeEda a1 (2) % TAHE a7
@) femt e (4) TSR FHIOTE ATE

Which type of forests have the following characteristics ?

(a) The roots of the trees comes up from the marshy area.

(b)  The trunk of the trees have roots on its all sides.

(c) The trees don’t have much height.

Answer Options :

(1) Tropical semi evergreen forest  (2) Moist deciduous forest

(3) Coastal forest {(4) None of the above
17, S o6
T pH T
(a) FrA () 45755
(b) oTeHyHl (i) 55765
(c) HIHWO 37 (iii) 75765
d) W TS (iv) 65975
Tqigr I

(@ @® () (@)
(1 O G 3d) (@)
(2) (@) () @v) @)
(3 () @v) @) @
@) (v) ai) @) @
Match the following :

Soil pH value
(a) Neutral (i) 45tobb
(b) Alkaline (i) 5.5to 65
{(c) Slightly acid (i) 7.5to 6.5

(d) Moderately acid {iv) 65to75
Answer Options :

(@ () () (d)
)0 @ G )
2) () (@) (@v) ()
3) ) @) @ 0
4)

(
(
(
(4) (v) (@) @@ @

FHSAT SATAS AT /SPACE FOR ROUGH WORK
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18. T 2011 T THUHTER FeRTLMIG AN Sereerd JHm TAF AR,

(1) 35.14% (2) 45.23% (3) 50.68% (4) 60.32%

As per 2011 census percentage of urban population in Maharashtra is

1) 35.14% 2) 45.23% (3) 50.68% 4) 60.32%

19. 1951 = SFHUAYAN MRS Behaerdl Sqal fhdl gl ?
(1) 104 (2) 164 (3) 257 (4) 260
As per the 1951 census what was the density of population in Maharashtra ?

(1) 104 (2) 164 (3) 257 (4) 260

20. 'R fGEe’ wREEEET ST Sl g ?

(1) N FT R

2) iR frwmaatma awad

(3) W= wusrt Ffif

@ e wd

What was the objective of horticulture development ?
(1) To provide work to labour

(2) To increase profitability of agriculture

(3) Creation of natural resources

(4) All the above

HeT FAWIE W /SPACE FOR ROUGH WORK
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21, S o
fawfafiedt vyerea goart ai
(a) SraH (i) 1962
(b) T (i) 2002
(c) =M (i) 1952
(d) w~EmE | (iv) 1991
it I

(@ (b) (o) (d)
1 @ @ @) ()
(2) (v} G @) (@)
@) @) (&) Gv) ()
(4 vy () @) (i)
Match the following :

Hydel Power Project Starting Year
(a) Bhatsa iy 1962
(b) Radhanagari (i) 2002
(c) Koyna (iil) 1952
(d) Majalgao (iv) 1991

Answer Options :
(@ (b) (o) (d)
1 O @) @) @)

(2) Gv) @) ) @
(3) @) @ v (i)
@) vy @) @ @

22, o fsieearen wanrgrdio ot faeeaien fam owq ?
(1) 03 (2)y 04 (3) 05 (4) 06
How many district boundaries are having to Latur district in Maharashtra ?
(1) 03 (2) 04 (3) 05 (4) 06

23, WEGUH! B TE WHEE Joed T Fagyet @ sive aed ?

(1y ard (2) SR (3) qu (4) freom
In which of the following river basin, Yeldari and Sidheshwar dams have been built ?
(1) Tapi (2) Manjara (3) Purna (4) Girna

HoT HITS! SI /SPACE FOR ROUGH WORK
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24, IiRREE, TEET § YO HvRE foegun SR ?
(1)« (2) Hww@ @ ™ (4) TIRE
In which district Ozarkhed, Palkhed dams are located ?

(1) Sangli (2) Satara (3) .Pune : (4) Nashik

25. TERISE aEld Wel U 9 Ihed v fadmn g o 7
(1) foEec (2) T (3) SR (4) wwR
Where the largest solar energy project is functioning in Maharashtra ?

(1) Chikhaldara (2) Malegaon (3) Kalsubai (4) Sakkri

26. AN TEIF WA 3.4, 1887 = W AT Siege H01 81?7
(1) ¥ IgE= TEas (2) i 3 A
(3) TNIBF IrES (4) IOYrEE SASH
Who was the President of Indian National Congress, 1887 held in Madras ?

(1) Barrister Badruddhin Tayybaji (2) Dr. Anni Besant

(3) Gopal Krishna Gokhale (4) Umeshchandra Banerji
27. T 90 S q9S SRINE G T
(1) =W T2 (2) T, 3L
(3) it sef | (4) THTE. €9
was not the founder member of Sarvajanik Sabha of Pune.
(1) MG. Ranade (2) G.G. Agarkar
(3) G.V. Joshi (4) S.H. Sathe

H13
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28. 1890 W& T QU wEatte g faaiia e

(1) ¥ERd MR T (2) O ST Sl

Q) Tavay awE gedien (4) T H90 TRIS

became Secretary of the Poona Sarvajanik Sabha in 1890.

(1) Mahadev Govind Ranade

(3) Vishvanath Narayan Mandlik

(2) Ganesh Vasudev Joshi
(4) Gopal Krishna Gokhale

29, Sire oo
(a) A (i)
(b) Teem ar=s (ii)

(c) TS Fo0r e (iif)
(d) <RI ST @ (iv)
T ¥
@ () () (@
1 @ @ @) @)
(2) (v) () @) @)
@) @) W) @ @)
@ G @ @Gv) (i
Match the following :
(@) Hume
(b) Dinshaw Wacha
(c) Gopal Krishna Gokhale

(d) Daji Abaji Khare

Answer Options :

(@ (b) () (d)
1y @ @) @) ()
(2) () () @) ()
() (i) (v) @) (i)
4 @ @ Gv) ()

wRd T S e

R T T

T T W s S

T T e SR T SR

(i)
(i)
(i)

(iv)

General Secretary of the Indian National Congress
Secretary of the Indian National Congress

Additional Joint Secretary of the Indian National
Congress

Successor of Gokhale in the Secretariat of the
Indian National Congress

o HIAMEIE AFT /SPACE FOR ROUGH WORK
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30. HITICHAT g A ST, .3, AESHTH TEd FOl el
(1) ‘efem dy’ =0 yRmEETESt
(2) ‘=TT THEEER
(3) ‘7 WA RN
(4) ‘wiesHa YRA' =N TEREARIST |
Shahu Maharaj of Kolhapur had helped Dr. B.R. Ambedkar :
(1)  For the publication of “Harijan Bandu”
(2) For the publication of “Swarajya”

(3) For the publication of “Mook Nayak”
(4) For the publication of “Bahiskrut Bharat”

31. Wi THo o, i Tge, 3t ol seET0 AaewEd gFa| _ At
FAH. '
(1) 0. IESRER (2) TF. e
(3) T R (4) | TS |
Native General Library, Female High School, Western India Industrial Association were
started by :
(1) R.G. Bhandarkar (2) G.K. Gokhale
(3) G.G. Agarkar (4) M.G. Ranade

32. WWWW@WW%@%?

(a) ®|IN. TS (b) L., M

(c) ETH HER (d) a7 feew

qgiat I

(1) X (a) (2) (a) 301 (o) (3) (o) 3 (d) (4) (a) S0 (d)
Who from the following had established Indian Social Conference ?

(a) M.G. Ranade (by M.K. Gandhi

(c) Beheramji Malbari (d) B.G. Tilak

Answer Options :

(1) (a) only (2) (a) and (o) (3)  (c) and (d) (4) (a) and (d)

FeAT HIMATS AT /SPACE FOR ROUGH WORK
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33. S oEl
(a) VAT T (i)
(b) ST R (if)
(c) dfea e (iii)
(d) e foie (iv)
ﬂﬂf*ﬁ‘ﬁi‘:

@@ () () (@

1) (v) (i) () )
(2) (v) () (i) (i)
@) @) @) (1) ()
(4 @ G) 3G @)

Match the following :

(a) Ramabai Ranade (

(b) Janakka Shinde (

(c) Pandita Ramabai (i)
(

(d) Tarabai Shinde iv)
Answer Options :
@@ (b} (c} (d)
1) () @) @) @)
(2) (v) () () (i)
(3) (@) Gv) @) @)
4 O ) (@) (v)

34. @ fewit 23 Ui 1916 @ quans

(1) wHE

(3) HE FoA
Lokmanya Tilak founded
(1) Prabhakar

(3) Fergusson College

18

i ge go

e wige wA =
feie Fom fawm
&3 ofes 9ve a9

Stri Purush Tulna

Arya Mahila Samaj
Depressed Class Mission
Hindu Ladies Social Club

0 I He.
TFRT Ty |
AaEs fom

(2)
(4)

at Pune on 23" April 1916,

Deccan Education Society

(2)
(4) Home Rule League

HEAT HIAHES SET /SPACE FOR ROUGH WORK
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35. ‘T gere fég g’ € g i1 fodies,
1) o FiFESE (2) e R
(3) AR A 4) o A
The book ‘The High-Caste Hindu Woman’ was written by
(1) Lady Falkland (2) Pandita Ramabai
(3) Ramabai Ambedkar (4) Lady Wellington

36, T AU Totore Hifte $ear TosiH! FIvE STaas TR gamd 3 Tl ?
(a) Tou faum o= faus
(b) T faum dacs fawsia
(€) Teare Tt uftweet e
g oo waEry g ST A
1) (b) (© 2) (@), (@ 3) (@) b ) (a), {b) (©)

Which of the following are not necessarily the consequences of the proclamation of the
President’s rule in a State ?

(a) Dissolution of the State Legislative Assembly
(b) Dissolution of the State Legislative Council
(c) Dismiss of the Council of Ministers in the State

Choose correct answer using the code given below.

1) () (© 2) (@) (© @) (@, (b) 4) (@) (b) (©

37. TeaRTe fee e =iy siwer e g ?
(1) T IEEA &% <A Q) TETE

(3) oA HiHSs (4) TS IR
District Judges in a State are appointed by whom ?
(1)  Chief Justice of High Court (2) . Governor

(3) Council of Ministers of the State (4) Advocate General of State

el HEME FRT /SPACE FOR ROUGH WORK
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38,  YIRGE TAET=A1 1T STSSITHR oo ~RIeAlen Ta: 9 Te¥ 9 FHeera [Afder s
AfYFR 3R ?

(1) HT=T 137 (2) IAT=T 143 (3) HT=T 136 (4) HT=T 138

Under which article of Indian Constitution, the Supreme Court having the power to review
its own judgements and orders ?

(1)  Article 137 (2)  Article 143 (3)  Article 136 (4)  Article 138

39. TN SR ArieiE e 9ieEd Sie O ¢

AT TR
(a) 39A ()  SETHES ST HEE FEUT
(b) 40 (i) TRIERER €HE A Hiew
() 43A (i) A E G FETGTIH ARd qErA
(d) 44 (iv) THIEREdE HHed
W Eﬂb{' .

(@ () (g (d)

1 @ @ ) @w)
() (@) @v) @ @)
G @ O (@) ()
@ (v) (@) @) @
Match the pairs regarding Directive Principles of State Policy :
Article Provision
(a) 39A (i) Participation of workers in management of industries
(b) 40 (ii) Uniform civil code for the citizens
{c) 43A (iii) Equal justice and free legal aid
(d)y 44 {iv) Organisation of Village Panchayats

Answer Options :

@@ (b () (d)
O O @ ) ()
() (@) Gv) @) @)
3) @@ @ () (D)
@) (v @) @

O FHIATES I /SPACE FOR ROUGH WORK
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40. YRANT el Ared o 39 e g A AfYER SAEedid ieiete! Hivd
faum =leR TR ?
(1) e =qRIes e YoVd TahIoaT STOISTETIEE! el at S0t FROEISE Sed Hig

(2)
(3)

4)

I3 T FIRYRET SR g VehdTd dL o= Ared FRRET AR F1g Wehd .

el T e ST A AR g, I X Sea Tl JHhR I RS
&z ol T4 S Y STy H1g WA

Which of the following statements is correct about the difference between the writ
jurisdiction of the Supreme Court and High Courts in India ?

1)

(2)
3)
(4)

The Supreme Court can issue writs not only for the purpose of inforcement of
Fundamental Rights but also for any other purpose, whereas High Courts can issue
writs only for the purpose of inforcement of Fundamental Rights.

High Courts can issue the writ of Injunction whereas the Supreme Court cannot
issue the writ of Injunction.

The Supreme Court can issue writs only in the case of appeal, whereas High Courts
can issue writs only when the party directly approaches it.

High Courts can issue writs not only for the purpose of inforcement of Fundamental
Rights but also for any other purpose, whereas the Supreme Court will issue writs
only for the purpose of Inforcement of Fundamental Rights.

41. 1976 T 42 ST HEAGERN ATUTTHREE WAGTH HIUW fqa9m Fara R ?

(1)
()
(3)

(4)

FEMHS wa TareEE 9 oty ¥ 9 789 e Sevar 9.
Y Tea TeTder FUTaRE H0Ia e,

e S S 3= e =nfas o oo mivew Fevars SR &
Tifed FOAE IS,

FEFauEr N T faurayan sE®e 5 TuEEd 6 Tu9dd IRfavaE 3.

Which one of the following statements regarding the 42°4 Amendment Act of 1976 is
incorrect ?

(1)
(2)
(3)

4)

Added only two new words i.e. socialist and secular in the Preamble.
Made the President bound by the advise of the Cabinet.

Curtailed the power of judicial review and writ jurisdiction of the Supreme Court
and High Courts.

Raised the tenure of Lok Sabha and State Legislative Assemblies from 5 to 6 years.

FHoeHl HHHIG! AT /SPACE FOR ROUGH WORK
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42,

22 A

GASIH! IO faemH/ 3 e /T 2
() YRATT YR SeReaial quey (Ho)EER il SgHaH oee i,
(b) FHSH T YR AR FIoaspie T fafirigeat dudl smevas s

(c) WWWWWW@%MW@WWWW
TrerE srevas SR,

(d) TTEA AT SR Tt fa st Ry Fmaiet Ui T SR
I S W,
i I

1) () = @ © @@ (3) ) © () 4) (@ ©

Which of the following statement/s is/are correct ?

(@) The territory of the units of the Indian Federation may be altered by the Parliament
by a simple majority.

(b) The consent of a State Legislature is necessary before the Parliament redistributes its
territory.

(c) The President’s recommendation is necessary for introducing in the Parliament a
Bill on redistributing territory of any state.

(d} The President must receive the state’s opinion before recommending a Bill on altering
the name of the state.

Answer Options :
(1) (a) only 2y (9 ) 3 ®) © () 4 (@ ©

43.

Gite faur fe=md =0 .

(a) STAYE TGAHE Ay 7 fafuHeamM SEEer ST,

(b) HUEY UgHA T YW 8 T ST 31 wahdl.

(c}) oA g AN T IET WA TR,

(d) YRS HEEA d5did Tl g arafas TeT THa 37,

T I faum arg o7 ?

1) (@), (b) 2) (b)) () @) (a) (@) 4y (b))

Consider the following statements :

(a) In Presidential system,' the President is accountable to the legislature.

(b) In Parliamentary system, the head of the state may be monarch.

(¢) In Presidential system, the President is the head of the government.

(d) In Parliamentary system in India, the President is the real head of the government.
Which of the statements given above are correct ?

CENCAL) (2) () () () @ @ @ 4 (b (9

FoAT HIMATS W /SPACE FOR ROUGH WORK
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44, qrg faum e
(a) YAWHM ¥ Sia-To Uioes Teag ITgam.
(b) TE T HETwsll ¥ Al-Tod e HEe .
(c) WRdE GfaMMM S=ET 273 ¥ at-Tod IREeH dafid STe.

'ﬂ'ﬂfﬁ' T :
(1) W (a), (b) (2) %H (a), ()
(3) w=H (b), (0 (4) o wd

Select the correct statements :

(a) The Prime Minister is the Chairman of the Inter-State Council.

(b)  Chief Ministers of all states are members of the Inter-State Council.
(c) Article 273 of Indian Constitution is related to the Inter-State Council.
Answer Options :

(1)  Only (a), (b) (2) Only (a), (9)

(3) Only (b), {c) (4) All of the above

45. WHASIH FY faEH e TR ?

(1) SrerfvumeEl g9 (Right to Privacy) & Sifaa 3 safam T@masaman siaves 1 3.

(2) TEYUTET T & ToYd 9 k.

(3) TAM. Wi W (1954) 0T G 601 Ween (1962) AW walwl =aarea (e fee
BT T, WS90 T B oA g9 TEl.

(4) =l Twe TR

Which one of the following statement is incorrect ?

(1)  Right to Privacy is an integral part of Right to Life and Personal Liberty.

(2) Right to Privacy is a Fundamental Right.

(3) In MP Sharma case (1954) and Kharak Singh case (1962) the Supreme Court ruled
that Right to Privacy was not a Fundamental Right.

{(4) None of the above.

FoAT HIWHES S /SPACE FOR ROUGH WORK
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46. @ieH feoee Hhar= o FEd WOIS HEgdia A HioHAMER 90 F9 o,

(a) gt wfaay sAfufram

(b) Tl Yldey Fre

(c) FifoeR e (FfaeH) Fee

(d) TR &F WA BRI

a9

(1) (e) @) (b), (d) (2)  (b), (d), (0) (a)

(3) (@) (b) (@) (0 (4)  (d), (a) (b), (0)

Arrange chronologically the enactment years of the following Acts by using codes given
below.

(a) Dowry Prohibition Act.

(b) Child Marriage Restraint Act.

(c) Immoral Traffic (Prevention) Act.

(d) Protection of Civil Rights Act.

Answer Options :

1) (©) (@), (), (@) @ (®), @) © @
(3) (@) (b), (d), () @) (), @, (b))

47. ‘' 9wEeei wfafat (wfasy) sifafm, 1967 < o srggEt wfaafaa <evmas) sueaidr
AEY W& FId ?

(1) e g 2) TEd g
(3) famdt sty (4)  FEH FEE A

Which schedule of “The Unlawful Activities (Prevention) Act, 1967” provides the list of
banned “Terrorist organisation” ?

(1)  The First Schedule (2)  The Second Schedule
(3) The Third Schedule {4) None of the above

oAl THATATST J /SPACE FOR ROUGH WORK
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48. YN T A AT TR TF AEw g fefavar @9 30 3 afdE
fran o aftfeedia € TR WS 79 Tl gH <O 7 ToIrE F ST
1) 39 2) 39-A 3) 51 " (4 51-A

It shall be the function of the state under Article of the Indian Constitution to
ensure that opportunities for securing justice are not denied to any citizen by reason of
economic or other disability.

(1) 39 2) 39-A 3) 51 @) 51-A

49, Fgraa STt enfon Srgfem WA (sTRraR frare) sifufEm, 1989 = HIUN Fedidid
o et TWE FO! AR 7
1) 14 @) 17 (@) 21(1) @) 21(3)

Under Scheduled Caste/Scheduled Tribes (Prevention of Atrocities) Act, 1989 in which
section there is a provision for arrangement of special court ?

1) 14 @) 17 3) 21(1) 4) 21(3)
50. faeromen AfUFER & qoqd AR = 0 it I ST
(1) 2002 (2) 2005 (3) 2009 (4) 2010

The Right to Education is given as Fundamental Right in the year
(1) 2002 (2 2005 (3) 2009 4) 2010

51. GEH Haw™ @9 UgHayE AUy ¥ WeER YhEys (3E) sifufEy, 2018 TS
FHICAT HSHI FATA S8 ?

(1) | 7A (2) FoW 8(1)
(3) ®SF 9(1) (4) TIGTRT A

Offence relating to bribing of a public servant is pertaints to which section of the Prevention
of Corruption (Amendment) Act, 2018 ?

(1) Section 7A (2) Section 8(1)
(3)  Section 9(1) | (4) None of the above

HoT HIATHIE W /SPACE FOR ROUGH WORK
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52.

26 A

IHiEa Wit 9 S (ST WiaEy) HTEE, 1989 W HeH 2(1)(e) Y vy @t
st A e, ne Seofgee faim s sfirea far sifyesa =uA
1w woel St Al s TR,

(1) Fo0 15 ) Fo9 13 (3) oW 16 (4) FoF 14

According to Section 2(1)(e) of S.C. and S.T. (Prevention of Atrocities) Act, 1989, ‘Special
Public Prosecutor’ means a Public Prosecutor specified as a Special Public Prosecutor or
an advocate referred to in

(1) Section 15 (2) Section 13 (3) Section 16 (4) Section 14

53.

HHa-aER fatdt Hifgn=n sEaE Teets! 2018 et Hione ' smfw dfaden g
A FRNE wAE TS ?

(1) o wo-gEh ) fre s tfag
(3) I Ro-gEd (4) ueerE HA

Amongst the following, who has been honoured with “American President Award” in
the year 2018 for campaign against human trafficking ?

(1) Ambika Patel - Luies (2) Minal Patel Davis
(3) Kamini Patel - Luies (4) Elda D'Mello

54.

TS TFRr FE N SuTEEde eyl HURTS R R HRAE GERER i
*3?

ORREIREERERC] (2) aFETET AN HeTEd

(3) ¥ ot T (4) o e SRS

UN Chief, Antonio Guterres has lauded which of the following Human Right Activist for
role played by Indian reformer and in shaping the landmark documents on Universal
Declaration of Human Rights ?

(1) Pushpa Jivraj Bhave (2) Charushila Amrutbhai Sadavarte
(3) Hansa Jivraj Mehta (4) Pushpa Vinod Deshpande

HoAT HITETS JWT /SPACE FOR ROUGH WORK
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55. TR TF WU HRAE, 1955 A FHoH TR * FEgvEEl’ FeRIg S5 SRR
(1) 16 2) 16-A @) 15 4) 15-A

Under Section of the Protection of Civil Rights Act, 1955 it shall be the duty
of the State Government to ensure that the rights occuring from the abolition of
‘untouchability’ may be availed of by the concerned persons.

(1) 16 2) 16-A (3) 15 (4) 15-A

56, STARUEE WFEE FEQ Wi Hefew omR.
(1) ST Hsiren e
() & Haftan wre fhen gy faar ded=n s
(3) TR R Wiadrqul HrefeuEhe Sreer
(4) THATYSRE IToHT AU TRIET HEEl
International Humanitarian Law relates to
(1) Laws of sea
2) Laws of war or Law of armed conflict

(
(3) Laws of peaceful settlement of International Dispute
(

4) Law of Intervention in case of violation of Human Rights

57. YRd WGGUH! 9re1 dreR 3R,
(a) PN Ao ToTehiE ST RIET STARUSET R
(b) onfedw, TrEnfeE it wiepfis sfwmET AR FL

e I ;
(1) & (a) (2) T (b)
(3) (a) ¥ (b) S (4) FSTR

Among following, India is a party to the :

(a) International covenant on civil and political rights.

(b) International covenant on economic, social and cultural rights.
Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) None of the above

WHoedT THMTEIS ST /SPACE FOR ROUGH WORK
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58. 'THE SevivAe W we it FH.
(1) HI 999 Tt 99 1961 988 (2) dreX T T 61 1961 9
(3) O THE i T 1961 9 (4) IR YT HofiEt e
‘Amnesty International’ was founded by
(1) Peter Jonson in 1961 (2) Peter Benenson in 1961
(3) Larsen Amnest in 1961 (4) None of the above
59. SAqgf9a Rt G A7gfEa S (srarad wiaed) sifufad, 1989 feAiw it
STHIT AT
(1) 17 IR 1989 (2) 30 ISR 1990
(3) 29 AlET 1990 (4) 12 HLR 1989
The Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act, 1989 came
into force from
(1) 17th September 1989 (2) 30t January 1990
(3) 29t November 1990 (4) 12th September 1989
60. T IREYF FIAT, 1961 HoH 2 FY T wooh ' Hiegan a9 9ra 3Y wRdE g faum,

1860 TS HIYHE 3R,

(1) %oH 32 (2) HOH45 (3) ®oH 38 (4) =TH 30

The expression ‘valuable security’ which defined under section 2 of Dowry Prohibition
Act, 1961 has the same meaning as in of the Indian Penal Code, 1860.

(1) Section 32 (2) Section 45 (3) Section 38 (4)  Section 30

HoeAT HHESE AFT /SPACE FOR ROUGH WORK
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61. AI-Sew el

RE L)
(a) T VoW TR fa. S (i)
(b) TEAET fa, dome WER (ii)
() ST Ted fa. Henrg W (i)
(d) . qEeR fa. TERY TEHR (iv)
it S
(@ (b)) (9 (d)
M O @) @) (i)
(2) @) (v) @@ @)
@)y O (@) (@) @)
(4) @) @v) @) ()
Match the pairs :
Case Laws
(a) State of M.P. v/s. Babunath
(b) Bacchan Singh v/s. State of Punjab
(¢} G.N. Godse v/s. State of Maharashtra
(d) S.N. Bhadolkar v/s. State of Maharashtra

Answer Options :

(1)
2
(3)
(4)

@ () © (@

(i) (i) (iv) (i)
(i) (v) @) ()
(i @y @) (i)

(i) (iv) () (i)

H13
frotg _
FGHR vere fag Foar TR
ARG 3T
AU oAt 20 T TFhT TOMH ST
g YoTeEG qriREA .
gffeerite gftie TRmaEE HoggeTHT fa
fedht STl

Decision

(i) Burden to prove general
exception lies on accused

(i) Life imprisonment is to be
reckoned as equivalent to
20 years

(iii) Guidelines for sentencing policy

(iv) Capital punishment only in
rarest of rare cases

Hol HEES 9T /SPACE FOR ROUGH WORK
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62.

30 A

GRS FITH] A TSI FER FHeied A ?

(a) U@ TR sidadn qr= 5.

(b) i i wEH His T

(c) o fdfter 9rmeE 2,

oyt 39

(1) ™ (a) (2) T (o) (3) R (a) () (4) e (b)
Which one of the following is/are not legal duties of police ?

{(a) to take charge of intoxicated person

{b) to avert any danger to public

{c) to contribute in child welfare fund

Answer Options :
{T) Only (a) {2) Only (c) (3) Both {a)and (c) (4) Only (b)

63.

e qiore atfufqam, 1951 At +od e e SRy Heraw
ST O] TS 3T,
1y 10 2) 10A 3) 11 4) 12

Section of the Maharashtra Police Act, 1951 provides for appointment of
Assistant Commissioner within Jurisdiction of Commissioners.

(1) 10 2) 10A 3) 11 @) 12

64.

G U G4/ g 378/ ?

(a) T sAfyeraren Foea Soa @ 99 iR 9 w1 <Eie fosa S
(b) Toefa gre eyl = wd favmfusRiTR sfea e S Tl

() Troeta dorm srfusrl afts sifmrai=a st st

it S
(1) &= (b) (2) % (o)
(3) W (a) 3 () (4) T HoRE ATE

Which one of the following statement/s is/are incorrect ?

(a) [f a Police Officer is suspended, his powers and functions are also suspended.
{b) A suspended Police Officer is not deprived from his legal privileges.

(¢} A suspended Police Officer shall be subject to the control of his authorities.
Answer Options :

(1) Only (b) (2) Only (0

(3) Only (a) and (c) (4) None of the above

THoeAT HIE ST /SPACE FOR ROUGH WORK
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65. WA T3 wiear 1860 HHe WeRLor _ el Pague Hefud suyiE awg o
3,
(1) W& IX (2) WEIX A (3) WU X (4) WEW XI A
Under chapter of the Indian Penal Code 1860, the provision of offences relating
to election are given. :
(1) Chapter IX (2) Chapter IXA (3) Chapter X (4) Chapter XI A

66. VRAE T WA 1860 TEX WOI@h! HoR/ o faum,/ faum staT nd/a?
(a) SPITAR FRGAIHR TSRS F96 SrEe Fl 34l :
(b) PIEN TIw Yol HUeH ST TR e ST shidl 9d .
(€) HaAteTan fraw TRifaswed=a TaEmR Hefi TR,

Tt S

(1) =i (b) (2) ™ (9) (3) H (b) A () (4) FH (a)
According to Indian Penal Code 1860 which one of the following statement/s is/are not
correct ?

(a) Claim of Juvenility may be raised before any court.

(b) Claim of Juvenility may not be raised after final disposal of the case.

(c) Mcnaughten rule deals with plea of insanity.

Answer Options :

(1) Only (b) (2) Only (c) (3) Only (b)and (¢) (4) Only (a)

67. WG 3 Higar 1860 TS T S SRS ST IMTET SH TETevar=1
GG S Heh! Fell=a T R et T8,
(1) T 268 (2) T 270 (3) HoH 279 (4) o9 294 A

of the Indian Penal Code 1860 provides for offence of malignant act likely to
spread infection of disease dangerous to life.

(1) Section 268 (2) Section 270 (3) Section 279 (4) Section 294 A

68. TENY WO JATUFTEH, 1951 TS Fod 2(4) AHIG A= IETH arg vty faen

1) e e (2) g

() o (4) w9 g

As per the definition in Section 2(4) of the Maharashtra Police Act, 1951 choose the correct
option : '

(1) Constable (2) Commissioner

(3) Superintendent (4) Deputy Commissioner

oAl THTATERS AT /SPACE FOR ROUGH WORK
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69.

32 A

GIEH! B faur/faa aieT s/amRa 2

(a) TN Saferen fobe Srei SO SO T TR A,

(b) wrERwfTF fowmit Hivrar Al suza Fmfn s Jom @,
(c) T 3 fofen amaTe AY Afedwl YHTR 9 YT JUIR T
et wt |

(1) W (a) | () W (b)

(3) R (b) 3 (c) @ =@, b), ©
Which one of the following statement/s is/are correct ?

(@) Person shall fly a kite so as to alarm to horses or persons.
(b) No person shall commit nuisance at Public Places.

(c) No person shall smoke or spit at Police Station or Court.

Answer Options :

(1) Only (a) (2)  Only (b)
(3) Only (b) and (c) (4) All(a), (b), ()
70. R €€ Hfew 1860 AEfte W2 Bk Yerehre &Fcll qrereuarsa Srehrasiefe SToRrerh
e feeht ame.
(1) =hoH 172 (2) HaH 177 (3) +haH 180 (4) <hoH 189
The of the Indian Penal Code 1860 provides for offence of threat of injury to

public servant.

(1) Section 172 (2) Section 177 (3) Section 180 (4) Section 189

71.

TRRTE Yieia sifufEm, 1951 e 14(1) =@ (e dvi=n fhear w@ed w9 goi=n)

e T ST, e Ve e St A TR FHOed] TAHH
T YHOIA <vdrd JE0.
1 1w (2) I (3) 1 (4) T

According to Section 14(1) of Maharashtra Police Act, 1951 Every Police Officer
(of the grade of Inspector or below), shall on appointment receive a certificate in form
provided in schedule

1) 1V @ 1 @) 1 4) I
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72. WA <2 HiEd 1860 THR WIO@IH! HIo oie € ** STOSon’” A1 TRl ued A ?
(a) e Fva FagmEoh 29,
(b) TRISTERIYT e FEWRT .

() TRTRS SUforgedh T Ol
i I

(1) W (a) S0 (b) (2) = (b) (3) WK () (4) T (a)

According to Indian Penal Code 1860 which one of the following is not ingredients of the
offence of an “abetment” ?

(a) Instigation to commit an offence.

{(b) Engagement in criminal conspiracy.

(c) Negligence towards the offence.

Answer Options :

(1) Only()and (o)  (2) Only (b) (3) Only (9 (4) Only (a)

73. WIADUH] HIUCHl ST Wevid SSUei STiarRihg Jedre HITg I ?
(a) TR TN Wfaey

by SEr

(c) THARSEN famm

it 3w

(1) " (a) (2) I (a) SN (b)
(3) W (b) ST () 4 w6 (a), (), (©

On which of the following grounds, Magistrate may require a report from
Superintendent ?

(a) Prevention of habitual offenders

(b) Regulation of Assemblies

(c) Regulation of Amusements

Answer Options :

(1) Only () (2) Only (2) and (b)
(3) Only (b) and (9 (@) Al @), (), (©)
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74, I ¥ Wiedl 1860 TR @ideta Hiow faum, faum g o/ onda 2
(a) ‘UL’ &1 WA TR AR,
(b) HUIUH WO HYE TRl IR,
(c) THULYUI & e H =T 3T,

TafEt 3T
(1) ™ (a) (2) TR (o)
(3) K (b) (4) R (b) ST (c)

According to Indian Penal Code 1860 which one of the following statement/s is/are
incorrect ?

(a) “Fraud” in itself is an offence.

(b) Fraudulent concealment of property is an offence.

(c) Fraudulently going through marriage ceremony is an offence.

Answer Options :

(1) Only () (2) Only ()

(3) Only (b) (4) Only (b) and (c)

75. WA 52 Higd 1860 HHE FARHRYT STqEigie AN Sl S@l
HOM AT

(a) 80 (i) FESIR FHat HEAT I
(b) 84 (i) wAIfowe STl Hal
(c) 95 (i) STTIET I HIOMW FHat
(d) 97 (iv) YRIET § HeHT e e g91e FHIrE] T
Tt 34T
@@ () (0 ()
(1) @) @ 30 (v

1)
2 () (i) () (W)

3 (M ) @) @)

9 (v @) 6 6@

Match the following regarding general exception under Indian Penal Code 1860.
Section Provision

(a} 80 (i)  Accident in doing a lawful act
(by 84 (ii) Act of person of unsound mind
(c) 95 iii) Act causing slight harm

(
(dy 97 (iv) Right of private defence of the body and of property
Answer Options

(@ (b) (o) (d)

1 @) @ 3G (i)
(2) (@) @) @O ()
3 O (@@ () ()
4 () @) @ )

HoAT HIWES AT /SPACE FOR ROUGH WORK
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76. NS WRAGIH! DIV FAe! IS Fal FEUR ?

(a) A HREET TErn fSwml & .

(b) = STEREH AT fHesa.

(©) A SR daf g w0,

Wﬂﬁﬂaﬂi‘:
(1) W (b) 2) H (c)
(3) T (b) M () @ ¥4 (a), (), ()

Which one of the following acts of Police Officer is/are called vexatious ?
(a) Entry in any place without reasonable cause.

(b) Unnecessary seizure of property.

(c) Offering personal violence to a person in his custody.

Answer Options :

(1) Only (b) (2) Only (o

(3) Only (b) and (¢) @) Al (@), (), (©)

77. WS FE (SRR TR T STfUER 9T et fSwm wu

(a) WARSA faeror (b)  STHTETE! SR (c) we faswror
FUSITT HI0Q TS 3T/ ?

(1) " (a) (2) T (c)

(3) TR (a) 3T (c) @ (@), ®)©

The police shall have free access to every such place of

(a) Amusement (b)  Assembly (c) Meeting
Which one of above is/are correct ?

(1)  Only (a) (2)  Only (c)

(3)  Both (a) and (c) 4) Al (@), (®) (9
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78. ATY SIS e :
RTa) gt -
(a) e fagia (i) fege ==
(b) wERETe fAgid () SeRHE gRIwH
(c) wieme fagia (i) Tofhdras geieam
(d) FuromER fagia (v) SwAfaEE geiEmE
Tt I
(@ (b)) (9 (@
O @ G v @
() ) (i) (@) ()
@) v @ O @)
@ @ O @ G
Match the pairs :
Theories of Punishment Approaches
(@) Retributive Theory (i) Hindu Jurisprudence
(b) Expiatory Theory (i) Punitive Approach
(c) Deterrent Theory (iii) Therapeutic Approach
(d) Reformative Theory (iv) Utilitarian Approach
Answer Options :
(@ (b) (o) (d)
B @ @) (@) @G
2) () (@) @) ()
) (v) () (@ (i)
@ (v @ @) (i)
79. <= W 1860 TR GEES S A Gt FIR favr/ R e o/

TR 2

(a) IR SHEL FIVAR AR aftie 39S &l W [UHREe faand 3 W @l
TS TR

(b) HTHIR FHESTI GRS TwdeS WUl Id AL

(c) TEREI THEN q INEe [ARES RGHRdl 94 3190 W el SHias TBordl.

it 3

(1) = (a) (2) F (q) (3) T (a) T () (4) ¥ (a), (), ()

Which one of the following statement/s is/are correct in the light of term “document”

under IPC 1860 ?

(a) Any matter described upon any substance to be used as an evidence is a document.

(by A cheque upon a Banker is not a document.

(c) A map or plan to be used as evidence is a document.

Answer Options :
(1)  Only (a) (2)  Only (c) (3) Only (a) and () (4) All (), (b), ()
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80. Wenrg dreAw Afuftam, 1951 Afus sTwry 9 fasi=n TR e o

(2)
(b)
(©)
(d)

a
@
3

—

)
)
)
)

(4

HEH

108
110
122

123

(2)
)

(i)
(iid)
(iv)

(b)
(i)
(i)

(iv)
(ii)

(d)
(iv)
(i)
@)

(if)

(@)

(ii)
(iid)
(iv)

R
gewfe Rl I Tt T gt .

BIHITHAR ST T HA.
Waqﬂmmwm@eﬁamﬁ
WIFERTaT= T ST,

Match the following regarding offences and punishment under the Maharashtra Police

Act, 1951.

(a)
(b)
(c)

(d)

Section

108
110
122

123

Answer Options :

(1)
(2)
(3)
4)

(@)
@)

(i)
(i)
(iv)

®)
(ii)
(i)

(iv)
(i)

©
(iii)
(iv)
(i)

&

@
&
(i)
0

)

(i)
(i)
(i)

(iv)

Provision
Defiling water in public wells etc.
Behaving indecently in public

Being found under suspicious circumstances between
sunset and sunrise ‘

Carrying weapon without authority
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81. hISRA wikan Hfgd 1973 =0 FoW 41 3= NewH1 SHEfEm TR FET 3EF S 3 ?
(1) IS AR AR TS W
(2) ISR G STLITEA
(3) <ESUH TR WS W
(4) ARG THE Foed SEEE

According to Section 41 of the Criminal Procedure Code, 1973 when can police arrest a
person without warrant ?

{1} On the orders of the Police Commissioner

(2) On the orders of the Municipal Commissioner

(3) If it is a cognizable offence

{4) On the basis of a article published in the newspaper

82. el @
(a) oTTEYE A () wfed STIE=t
(b) L G (i) @Ne FEm 9w
(c) TESIH TR (ili) STEHA I

(d) ST fohan ST TR (iv) wo® o AR Sfum
uIiET 39T
(@ () () (4
(1) @ () @v) (@)
2) @) @ 3G (@)
(3) () (v) (@) ()
(4) (@) @) (@) @
Match the following :

(a) Anticipatory Bail i)  First Schedule
(b} Summary Trial (i) Arrest Without Warrant
(c) Cognizable Offence (ili) Apprehension of Arrest

(d) Bailable or non-bailable Offence (iv) Judicial Magistrate First Class
Answer options :

(@ (b) () (d)

@ @ @) Gv) @)
@ ) @ @) Gv)
(@ (@) (v) @@ @
(4) (@) @) @) @

Foell HIAEE 90T /SPACE FOR ROUGH WORK
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83. IAFT I Fas
FroRr) Wi GRATAR el Fees aie i FromHie! sivem owd ?
(a) TH
) W=
€ ¥ P FES e © wrRiwe © TRIdd
(d) T HEESE HETda
TG I
(1) T (a) 2 T (b) (3) W () (@) (o @ (d)
Choose the correct answer

According to CrPC, what is the duration for which warrant issued remains in
force 7

(a) One year

(b) Five years

(c) Untill it is cancelled by the court which issued it.
(d) Untill it is executed

Answer options :
(1}  (a) only (2) (b} only (3) (d) only 4) () and (d)

84, SRR Wi Hied, 1973 =41 FoW 125 394 HIone faig sw e I ?
(1) =I5, @a:ar faie Foam o amd sEes! ge.
(2) oH, @A falE Foam e e Y 9 SRy I Wow
(3) oA, .91 A Foam oTHY 3o dei@ fhar o1
(4) oo g

As per section 125 Criminal Procedure Code 1973, who are entitled to get maintenance
allowance ?

(1) Person’s wife who is unable to maintain herself.

(2} Person’s legitimate or illegitimate minor child, who is unable to maintain itself.

(3) Person’s father or mother, who is unable to maintain himself or herself.

{(4)  All of the above

HoAT RIS AN /SPACE FOR ROUGH WORK
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85. WRAId Hiallt JUET HIFE=A v FOHE RIS dJaits JNGa 1491 rl S @i 9
=1 fag =@ ey Fw@t ?
(1) e 50 () ®oH 52 (3) *TH 53-A (4) oA 54
According to which section of the Indian Evidence Act, the evidence of character or previous
sexual experience of victim is not relevant ?
{1) Section 50 (2) Section 52 {3) Section 53 A {4) Section 54

86. TEI® faumiar wRdrR st qUa1 syl faam 4.

(a) TG AT WE S1UE SRR TSWIHE A UIadl SIS hieid Wied Sl 49 IR,
(b) TIYd ST SUfSE THAT ST, E AL SAE OFl.

arg 3w e

(1) (o) TR S (b) I 3Te.

(2) () T 3T (b) TT .

(3)  (a) 3 (b) S faum al= s,

(4) () 30T (b) B faum == e,

Think about the following statements in relation to Indian Evidence Act.

(a) Signature or handwriting of any person may be proved in the court without sending
it to the Expert.

(b) There is a fixed format of taking “dying declaration” and it should be taken in that
format only.

Choose the correct answer.
(1
(2

) (a) is correct and (b) is wrong.

) (a) is wrong and (b) is correct.

(3) (a) and (b) both the statements are correct.
)

(4) (a) and (b) both the statements are wrong.

HEAT HIWATS W /SPACE FOR ROUGH WORK
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87. i faumiar e & |
(a) T Wi wied 1973 <A1 TS ST FRER W9 Sgd HYel WA or B,
(b) memnﬁmﬂmm@ﬂwmm.
qrg S Fee
(1) Taum (@) o T (b) TR TR,
(2) Tour (a) SR ST (b) TF M.
(3)  (a) 370 (b) S farem e ee.
(4) (a) 3N (b) S Faur =R 3R,

Think about the following statements :

(a) Criminal Procedure Code 1973 extends to whole of India except the state of Jammu
and Kashmir.

(b} The Indian Evidence Act 1872, applies to the whole of India including the state of
Jammu and Kashmir.

Choose the correct answer :

(1) . (a) is wrong (b) is correct.

(2) (a) is correct (b) is wrong.

(3) Both the statements (a) and (b) are wrong.

(4) Both the statements (a) and (b) are correct.

88. HISIGRI Wiska Wigtr=a v FourEre! foee SIS wre ifuswR &=men wnfien dimi=n
T, FvreEre fiauE e e SEva viiEy % el ?

(1) Fo5 149 (2) Fo9 144 A
(3) HTF 144 (1) (4) FO9 152 A

Under which Section of CrPC, the District Magistrate can prohibit the carrying of arms in
any procession in any area within the local limits of his jurisdiction ?

(1)  Section - 149 (2) Section - 144 A
(3) Section - 144 (1) (4) Section - 152 A

oAl WHETEIS I /SPACE FOR ROUGH WORK

P.T.O.




H13

89,
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Wwﬁwwﬁhgﬁaﬂﬁﬁwwﬁw%a—m_mﬁr?
(1) e STfmraeER TR e Ui o weeive,

(2) HFTSH aie AfuSHFIEHR SEamER fGoat s,

(3) Uifedr wifaw[ swam oo FeeaamE.

4) =o wd

Which of the following type of confession is unacceptable by the court, according to
Evidence Act ?

(1) Confession made to a police officer by accused under threat.
(2) Confession made by a lower grade person to senior officer under pressure.
(3) Confession given in presence of police.

(4) All of the above

90.

JRTOUH! IV FHATEH A Wiaft Juer FrE] OF] e e 2

1) Tooe =t wrefa (2) W EATGATH HEETE

(3) ARl G HEE @) aH! =n€‘r

To which of the following proceedings the Indian Evidence Act does not apply ?

(1) Proceedings of the District Court (2) Proceedings of the Session Court

(3) Proceedings before an Arbitrator (4) None of the above

oAl THTHIETS AT /SPACE FOR ROUGH WORK
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91. RIER! Wik Hfeden Hewlt @ faun foramm =0 9 ara SW freer
(a) S = Sefud s s e e @ e G e,
(b) |HE HH TGUS T4 TY RHTS Rt fhar Saod=t fohar 2 aufisy s foranm s
(1) Taur (a) TR oG () T 3. (2)  (2) 9UF T ST (b) Faem a0 e,
(3) (a) MM (b) =1 fauH TV a7, (4)  (a) A (b) = foum % .
Think about the following statements in relation to Criminal Procedure Code and choose
correct answer.

(a) Special judicial magistrate and special executive magistrate are synomenous terms.

(b) Sumon’s case means where punishunent for an offence is capital punishment or life
imprisonment or punishment for more than 2 years is there.

Choose the correct answer.
(1) (a) is correct and (b) is wrong.  (2) (a) is wrong and (b) is correct.
(3) Both (a) and (b) are correct. (4) Both (a) and (b} are wrong.

92. @rg I Fraw

T T BRI AUE ST e SR, St STey wen sHen ql W) Wk wied
T TEEITHR RN HIvRE Ve SRH S 9ed 3 ?

(a) 16 TNT9& HH FAT AR

(b) HIVICATE! AT T

(c) TRIVITEt TSI 19 gelad =il

it I :
(1) ™ (a) (2)  (a) 3 ()
(@) (b) =f (o) (4) FletE wd

Choose the correct answer :

Under the provisions of Criminal Procedure Code when any offence which is punishable

by death or life Imprisonment is committed then also, who may be released on bail from
the following persons ?

(@) Person under the age of 16 years

(b) A woman of any age

(c}  Any sick or infirm person

Answer options :

(1) only (a) ) (a)and ()
(3} (b)and (c) (4) All of the above

HoedT HEHG WA /SPACE FOR ROUGH WORK
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93. VRA sl qUET FrEEEA TERIVH QRIS SIvE [l € s g qeer sl ?
(a) DNA T faoe quen
by Ffea o= 7
(c) IEE 39 YU dewren e
(d) TF PEHFH Wed [HHA AT HoS AT

g IR e
(1) (b) 3o (d) . (2)  (a) SO (c)
@) =l T @) o wd fofas a o

Which of the following evidence is conclusive evidence according to the provisions of
Indian Evidence Act ?

(a) Evidence of DNA Expert

{b) Opinion of Medical Expert

(c) Evidence of fingerprint Expert ‘

{d) Opinion expressed in text-book by specialist author

Choose the correct answer.

(1) (b) and (d) (2) (@) and (0

(3) None of the above (4) All are conclusive evidence

94. YREME W& a1 HrEE= dedid el oEl.
(A) (B)
(a) TS TEITh () TR S RS
(b) aEEAg EiTH (i) o qoen
(c) T=aTEsH RS (iii) TR Y% Rl

gt I

(@) (® (0
(1 @ @ G
(2) @) () (i)
(3) () () @

@ O @ G
In relation to Indian evidence Act match the following.
(A) (B)
(a) Rebuttable Presumption (i)  Shall presume
(b) TIrrebuttable Presumption (i) Conclusive proof
(c) Presumption of facts (ili) May presume
Answer Options :
(@) (b) (o
(1) @ (@) (i)
(2) (@) (@ (i)
(3) () (i) ()
4 O @ (@

HeeAT HINAS JAT /SPACE FOR ROUGH WORK
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95. WRAIT WAl qUaT SEErsia Gieieteh! R SElas SHwiTe Swuas A ?
(1) g TEHR 3R TG FHR TH 9 0 Hds,
(2) TEHE W HES A 4 WS,
(3) IR WARRe Woo fzdw.
(4) @R AR T A O Yoo,
Which of the following documents is not public document according to Indian Evidence
Act ?
(1) Documents forming the acts passed by Central or State Government.
(2) Laws/Acts or records of the acts of a foreign country.
(3) Returns filed with Income Tax Department.
(4) Unregistered will of a private person.
96. THET KT STASHIN FP O W A SN A AR TN [Ea 9 I
1) 1299 (2) 109% (3) 798 (4) 39§
The law presumes a person as dead if a person has not been heard of for
(1) 12 years (2) 10 years (3) 7 years (4) 3 years
97. WRHE Wl [UE1 FHHEr FOH 91 TAR Sl FEIN B IAUHK "I S FHE FH

TR ST 3 i fafirse sme o Afasr U arTen ST SR S @A da ¥ Sagi
T v F @ S wg .

(1) Tag =& o (2) WY e
(@) TER W I A 4) oz FuE o TR

According to section 91 of the Indian Evidence Act when a public officer is required by

law to be appointed in writing, and when it is shown that any particular person has acted
as such officer, the writing by which he is appointed ?

(1) needs to be proved (2) isirrelevant

(3) is not presumed {4) need not be proved

oAl FHMMTS WRT /SPACE FOR ROUGH WORK
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98.

46 A
&te = Wieer gfshar Gigar 1973 = gevid famr & :
(a) SR ST <ar F4,
(b) THE T STHGANA AT a1 YRAETRT HISE Il .
qra S| faer
(1) (@) T79m TR T (b) TF 6. () (b) Toum TR G (a) TF .
(3) (a) 3N (b) T TH AARA. (4) (a) 3 (b) TH T AT
Think about the following statements in relation to Criminal Procedure Code 1973.

(a) Surety may be provided for the warrant.

(b) Arrest warrant may be executed anywhere in or outside India.
Choose the correct answer :

(1} (a) is correct (b) is wrong. (2) (b) is correct (a) is wrong,.

(3) Both (a) and (b) are wrong,. (4) Both (a) and (b) are correct.

99.

Sl UGG AV YRS B TATSAT HIHGSTAT SIS AT Hafya s e 36 g
TTEE YA T FEET FHed 123 TR S0 WA=t TS $T6d 7

(1) T g (2 T T
(3) TR TEHA (4) wafgd fawm v @
When any evidence derived from unpublished official records relating to any affairs of

state, is to be given, then to give such evidence whose permission is required as per section
123 of the Indian Evidence Act ?

(1) Chief Minister of the state (2) Governor of the state

(3) Home Minister of the state (4) Head of the concerned department

el HUMES W /SPACE FOR ROUGH WORK
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100. e FAFYIESe Gitdren frerEes 2013 T SRRt v dieda guron
FHI AT,
(1) ~awd . wEa () —rd 3. T, ai
(3) AT A (4) = <A

The code of criminal procedure was amended in 2013 on the recommendations of the
Committee headed by

(1) Justice P.B. Sawant (2} TJustice ].5. Verma
(3)  Justice Srikrishna (4) Justice Ranjana Desai
-00o0-
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Il — (I 1 969 TR.... )

@®) TgfeHe fafeq Foen fafere wrie = W (6 9§) *09. TEyfasatoied swafaeat a
IR FEET Fe FTH Fedid o BIA FOATAT I FS TR, T TAS o § AR SHTTER
WEAH S s ' otgieed) g IRy wiasy e fufem-g2"" arits SEEan FIer
FU S q Q¥ AFKI FHG Th A9 FREEE oy fHar T3 UF B9 U= S e
| E R

(9) WX FEIFREE SEe fafeq FOS 9% G SHEANA € TTYREh WS TRt
U U T AR, WA U HATETE SAIUEgEl SHEES 3WIsAT SaueR el WHT-1
WHAPEHTHS 7 faOwn T ot AaYaE A

W FHHiE

V. . 201.

AT U9
201, Y= @ T FOAEE! FIO0 Jod: TIHT 2
1) T SIFg WEEdl ) FRaEE faamrR
(3) T THRE T4 @ i T
TR Ag I (3) T THEET UG o AR, W 1 TE IW C(3)" e I
WIEATHET T . 201 FARs I9-Faek (3) " ¥ dfe QT Srifhd FE Srafad A
AR, .
ONGN NO)
M TG Wd TR de To® T g SUGhEIS 9 QReiel S g

TRAFEHT 1 o TEEHEEEe dufud age yoien gaifed &7 qrEaEn.  geia
e AT EY SodT g, Ifae o1 g i 9o 2.
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